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SECTION-A

W0 0O R 00

i) General Awareness

The largest planet in the solar system is
(A) Mars

(B) Earth
(C) Jupiter
(D) None of the above

“Seoul Peace Prize — 2018” was
awarded to

(A) Narendra Modi

(B) Donald Trump

(C) Viadimar Putin

(D) None of the above

Patachitra a traditional painting art
mainly found in which of the following
state ?

(A) Odisha

(B) Kerala

(C) Rajasthan

(D) None of the above

Cusec is a measure of the rate of flow of
liqguid commonly used by the irrigation
department to measure the water
outflow. One Cusec is approximately
equal to

(A) 28.32 litres of water flow per second
(B) 78.64 litres of water flow per second
(C) 138.76 litres of water flow per second
(D) None of the above '

In which of the following High Court
the first paperless e-court established
in India ?

(A) Hyderabad High Court

(B) Bhopal High Court

(C) Chennai High Court

(D) None of the above

6.

10.

Which of the following is known as
golden fibre ?
(A) Silk

(C) Cotton

(B) Wool
(D) Jute

Which of the following Article vested
powers with the President to declare
Emergency because of threat to the
country’s security due to external
aggression or war or armed rebellion ?
(A) Article 378

(B) Article 352

(C) Article 112

(D) None of the above

Who among the following is the
14" President of India ?

(A) Pranab Mukherjee

(B) Ram Nath Kovind

(C) Pratibha Patil

(D) None of the above

Which of the following city is located on
the bank of the river Sumida ?

(A) Tokyo, Japan

(B) Beijing, China

(C) New Delhi, India

(D) None of the above

World Lion Day celebrated every year on
(A) 10t August

(B) 12t June

(C) 2nd March

(D) None of the above



1 0O 0 O O

MKG-XXIV/TECHCIFT/1T/03

W - A
i) AR AR :
. OR Hed § U9 91 UE © 6. fmafafad ¥ 8 ford Mo s wa
(A) T ST @ 7
(B) geft (A) &m (B) 3
(C) wewdfd (C) U (D)
(D) 34 ° @ =S Tl

. B3 Wifd JEHR-2018" $% YoM T
RIE1

(A) TEAR

(B) ©HTEE U

(C) =efesR IeffA

(D) 3% H @ IS TE

. u2fer, v wWare faseen raferfaa o
T fore Tsr 4 9T STt @ 7

(A) 3nfsem

(B)

(C) TSR

(D) 3% H G HIE TR

. T 39 % JaTE 3l ST A & fore s
fawm g0 g S yaTe i 99 R |
1 FHSF & T

(A) 28.32 et it waTE Ifd s

(B) 78.64 &t 51w yaTE Uit The

(C) 138.76 <X 5ieT WaTg Wit The
(D) 3% H ¥ 1S el

. Fr=afefen 3=e et o @ g o et
FTREd $-3TeTerd o Terfua <t g ?
(A) TEE Io AR

(B) 9T 3= =TT

(C) =73 I=9 T

(D) Jor 8§ @ g 7

10.

Ffcifiga o ¥ SH-91 ek SRl ST
a1 g5, A1 T TaEiE o shwor 9 B gean
1 @l F FHRV ST TINT T
T ueufd H e ?

(A) 3TT=< 378

(B) ¥TT=T 352

(C) =% 112

(D) 3o H & IS T

fafefaa d 8 9 A 14 3 reafa g ?
(A) U gESi

(B) THATY wifdg

(C) i wifew

(D) 3FH § HIS T

FAfefaa # & SH-81 TR gite 76 &
frmfeme ?

(A) AfF, STae

(B) sfifsm, =

(C) ¢ feeett, wra

(D) 3 H & IS 7

fava foe feeg wiaad AT
A |

(A) 10 3T

(B) 125H

(C) 2urd

(D) 35§ @ HIE T
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¥1.

12.

13.

14.

15.

Who was the architect of Operation Flood
in India ?

(A) Dr. Verghese Kurien

(B) M. S. Swaminathan

(C) Amértya Sen

(D) None of the above

Ramsar convention is related to the
conservation of

(A) Rivers

(B) Western Ghats

(C) Wetlands

(D) None of the above

Optical Fibre Cable (OFC) works on the
principle of

(A) Total Internal Reflection

(B) Diffraction

(C) Absorption

(D) None of the above

Who among the following is the founder
of E-commerce giant Alibaba ?

(A) Jeff Bezzos

(B) Mark Zuckerberg

(C) Jack Ma

(D) None of the above

Which of the following crop is known as
white gold ?

(A) Cotton crop

(B) Mulberry crop

(C) Sunflower crop

(D) None of the above

| IO 0 O 0O

16.

1,

18.

19.

20.

Which one of the following is an artificial
lake ?

(A) Kodaikanal lake

(B) Vembanad lake

(C) Chilka lake

(D) None of the above

Which one of the following diseases is not
due to the contamination of water ?

(A) Anaemia

(B) Cholera

(C) Diarrhoea

(D) None of the above

Which one of the following brings the
“Nutrition at a Glance Research Report” ?
(A) IMF

(B) World Bank

(C) FAO

(D) None of the above

A famous sports personality

Pankaj Advani is related to which of
the following sports ?

(A) Carrom

(B) Snooker

(C) Chess

(D) None of the above

Which one of the following is land locked
state in India ?

(A) Maharashtra

(B) Tamil Nadu

(C) Telangana

(D) None of the above
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11,
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13.

14,

15.

G § SATRIMA FeTE Tl TGHR i o1 ?
(A) eI afis A

(B) UH.TH. WHARA

(C) et ax

(D) 37 A & FIE T

e Ty & GIgU d Te it © |
(A) Afear
(B) ufvei |rg

(C) eyl
(D) 3= H ¥ F1E T8

AMEH FE Fael o [gid |
FE F R |

(A) ot TafeEs TrEd

(B) famd=

(C) I

(D) 39 H ¥ H1E Tl

FraferRaa @ & 9 §-Fmd STg STefiam
T TEIIE 2 7

(A) S% S

(B) T St

(C) St

(D) 3% 8 U HIE &

frfefaa @ & form woe #1 g%e @
FEAdE 7

(A) FUTE B

(B) HersI{l o

(C) wETE wuw

(D) 3 & g T

16

17Z.

18.

19.

20.
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e 4 8 FA-T v Fhm e ® ?
(A) FIEHA e

(B) deATE S

(C) feieem o

(D) 3 | & IS e

feferiaa o & = -5 e T ST o e
% FHROT A 2 7

(A) 3

(B) &

(C) sIfEn

(D) I | @ HIE e

frefafed 4 8 w9 <feem @ v iy
e fad” st ar 2 7

(A) STETHTH

(B) fava =

(C) uwust

(D) 3 H & 18 4

S ATEaTh, Th IHg Wd Hfadaca
Frafofega go o 4 frag gaftm & 7
(A) F|

(B) ¥R

(C) WIS

(D) 35 & ¥ 1 7

Frmfea 3 & - s & = iR
af @ T 2 7
(A) T

(B) dTfireTg
(C) d&mE
(D) 3% | U FIE Ael
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21.

22

23.

24,

25.

A is older than B but younger than C.
D is younger than E but older than A.
If C is younger than D, who is oldest
of all ?
(A) A
€ D

If + means x, x means +, + means—and
~ means +, then what will be the value
of 50-10x20+5+27?

(A) 25 (B) 15

(C) 20 (D) 18

Identify the wrong term in the series.
69, 55, 26, 13, 5
(A) 5

(C) 13

(B) 55
(D) 26

Find the missing number.

9 [ 5| 6

5. 1ol o) ui?

& fod. |5

135 [140 | 150
(A) 8 (B) 10
€) 5 (D) 4

Find the missing letter.

A |'E ™
B|F|J
216 | K
(A) C (B) D
C) E (D) F

i) General Intelligence and Reasoning Ability

26.

27.

28.

29.

30.

Complete the analogy.
Cow : Calf : :

(A) Cat: Kitten
(B) Lion : Puppy
(C) Dog: Cub

(D) Duck : Chicken

Belt is to waist as
(A) Shorts

(B) Tie

(C) Shirt

(D) Collar

is to neck.

Select the pair in which the numbers are
similarly related as in the pair 11 : 121.
(A) 1:1

(B) 3:6

(C) 7:14

(D) 10:110

Select the words which are least like
other words in the group.

(A) Algebra

(B) Arithmetic

(C) Trigonometry

(D) Stoichiometry

Select the number which is different
from the rest three.

(A) 23
(C) 79

(B) 53
(D) 93
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21.

22.

23.

24,

25.

A, BESSIWg CH BRI | D, E BRI
WgATFEIR | AR C, D BAE, dl
Y ST A & 7
(A) A
(C) D

B) C
(D) E

ﬁeﬁaﬁx%,x‘ﬂaﬁﬂwﬂﬂﬁ—
IR -FH AL =, FT50-10x20 + 5+ 2
FIAEE

(A) 25 (B) 15
(€) 20 (D) 18
ST § TeTd T YE=HT |
69, 55, 26, 13, 5
(A) 5 (B) 55
(C) 13 (D) 26
T &I 1 |

9 | 5] 6

5 | 7|7

3 |4]5

135 | 140 150
(A) 8 (B) 10
(C) 5 (D) 4
T &R F1d L |

A|E]| I

B|F|J

? | G
(A) C B) D
C) E (D) F

26.

27.

28.

29.

30.
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FHET Ui |
Cow : Calf : :

(A) Cat: Kitten
(B) Lion : Puppy
(C) Dog:Cub

(D) Duck : Chicken

o FTHW Y I gEY &S Eal
A |

(A) wEE

(B) <

(C) =His

(D) HIeR

I8 g™ g o genedt % e a8 wan
TFH 1121 F AT

(A) 1:1

(B) 3:6

(C) 7:14

(D) 10:110

JE Y158 YT Sl U 3 VI3l A Tl
w1 fierd € |

(A) ssmfora

(B) =IO

(C) Tty

(D) TEEHiFT

Fe T gAET S I A A = R |
(A) 23 (B) 53
(C) 79 (D) 93
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31,

32.

33.

34.

35.

Select the group of letters which is
different from others.

(A) MPS (B) ILO

(C) SVY. (D) ADF

Find the correct alternative for Mars,
Mercury, Venus.

(A) Stars

(B) Planets
(C) Satellite
(D) Asteroid

Complete the series.

9, 19, 28, 36, 43, 49, 54, 58, 61, ?
(A) 63 (B) 65

(C) 62 (D) 64

Find the missing letters that will complete
the seriesabb_ _b_aa_b _.

(A) aabba
(B) ababa
(C) abbaa
(D) abaab

In a certain language if ‘REMOTE’
is coded as ‘ETOMER’ then how is
‘COPPER’ coded ?

(A) REPPCO
(B) REPPOC
(C) PREPCO
(D) ERPPCO

O 0 00 U0 OO0

36.

37.

38.

39.

40.

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How is
B relatedto C ?

(A) Father

(B) Brother

(C) Uncle

(D) Grandfather

Deepak went 20 meters to the East,
he turned left and walked 15 meters.
He turned again right and went
35 meters. He again turned right and
walked 15 meters. How far is he from
starting point ?
(A) 35 meters
(C) 55 meters

(B) 50 meters
(D) 60 meters

English, French and Hindi can be

represented by

w ©o
© IO ©® 000

In a dictionary, which of the following
words will appear last ?

(A) Actuate (B) Accumulate
(C) Acquit (D) Achieve

Inthe series64122874215386
2171423286, how many pairs of
successive numbers have a difference
of 2 each ?

(A) 4
(C) 6

(B) 5
(D) 7
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31.

32.

33.

35.

el 1 98 Te g S A= A = R |
(A) MPS (B) ILO
(D) ADF

(C) Svy

e, 99, I  fore T faswes giiw |
(A) TR

9, 19, 28, 36, 43, 49, 54, 58, 61, ?
(A) 63 (B) 65
(C) 62 (D) 64

AR FAF SAabb__b_aa_b_
STEe 1 ol |

(A) aabba

(B) ababa

(C) abbaa

(D) abaab

e 99T § I ‘REMOTE' &t ‘ETOMER’
% ®9 U eag foran AT & 91 ‘COPPER’
=1 fore TR Feas, foran smam 7

(A) REPPCO

(B) REPPOC

(C) PREPCO

(D) ERPPCO

36.

37.

38.

39.

40.
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AR BYE T, CIHRD T 2, AR A
DHFIVER IBHRICIRTTET R ?

(A) fomm
(B) g
(C) =
(D) =w

dow qd o 20 HieX T, 9 ger 3R
15 HieX I | YA TC gET R 35 HieX
e | GH: TT¢ eI 3R 15 HWex gel | 9%
e fog © fraft g e 7

(A) 35HX (B) 50 HixX

(C) 55HIX (D) 60 HiE

T, W R f&h = g

T ST =TfeT |
®)

A ©o0

© @D © 000

T Yeeahly § fefefaa § @ e -a1 vree
g8 3q | e ?
(A) Actuate

(C) Acquit

(B) Accumulate
(D) Achieve

TEAT64122874215386217
142 32 86 ¥ fohe AT T % IH
s fadom aime ?
(A) 4 B) 5
(C) 6 (D) 7
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41.

42,

43.

45.

VA0 OO 0O

iii) Arithmetical and Numerical Ability

A vertical pole of length 6 m casts a
shadow 4 m long on the ground and at
the same time a tower of height ‘"’ m
casts shadow of length 28 m on the
ground. Then h =

(A) 42m
(C) 30m

(B) 28 m
(D) None of these

The roots of the equation 5x° —6x -2 =0

are
1+4/1
A) 3+ gh_g ®) + ;./_1
(C) 2,38 (D) None of these

When the polynomial p(x) =x3—3x2 + 5x—3
is divided by x2 — 2, the quotient
obtained is

(A) 7x—9 (B) x-3

(C) x+3 (D) x-—1

If HCF of 2 numbers 306 and 657 is 9
then LCM of same 2 numbers is

(A) 23228

(B) 22338

(C) 228

(D) None of these

A quadratic polynomial with sum

and product of its zeroes as l, -1
respectively is 4

1

2 1 2
X+ — B =TT
(A) x“+ +4 (B) x 4)( 1

©) x2+§—1 (D) None of these

46.

47.

48.

49.

If 10 students of class X took part in a
quiz and the number of girls is 4 more
than the number of boys. The number
of girls who took part in the quiz is

(A) 4
(B) 7
(C) 6
(D) None of these

The sum of a two digit number and the
number obtained by reversing the digits
is 66. If the digits differ by 2 and the digit
in the unit place is smaller than the digit
in the 10" place, the number is

(A) 24 (B) 42
(C) 62 (D) 26

5 years ago, A was thrice as old as B.
10 years later A will be twice as old as B.
Present age of A is

(A) 45 yrs.
(B) 50 yrs.
(C) 35yrs.
(D) None of these

A fraction becomes —% when 1 is

subtracted from the numerator and it
1

becomes 7y when 8 is added to its

denominator. The fraction is

5!
12
6

(C) 13

) ® 1

(D) None of these
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41.

42.

43.

45.

11-

e 6 I TS & U IR @y i S
A W 4 Hiet Sl a9t 8, 36t a9y
'’ i 18 & U el Sl BT S
wog iR TIA R, A h =

(A) 42m (B) 28 m

(C) 30m (D) 378 | I3 T

THISHT 5x2 - 6x — 2 = 0% A ©

() Sifs ®) ~*—~1i;m
C) 2,3 (D) T & FIS TE

s SIS p(x) = x3 - 3x2 + 5x — 3
=i x2 — 2 g1 fofora fere stren 2, W
TS &

(A) 7x-9
(C) x+3

(B) x-3
(D) x-1

Ife 2 dEarsti 306 3R 657 FH1 HEI 9 &,

A 3] T3 o @99 §

(A) 23228

(B) 22338

(C) 228

(D) T8 & 1S A

s faoma sgud foms vt =1 A ok
A% AT %,—1%

(A) x2+x+% (B) xz—%x—1
© ¥+3-1 (0 FHITE

46.

47.

49.
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Ife X Fen & 10 faenfsfai v yeared d
9T oid & 3R wrefal i ge aeh 4
4 AfY B, O 3 TEERRT H TRt
wefwal i v §

(A) 4

(B) 7

(C) 6

(D) T & IS AL

31 37e] o) T 1 AT 3N e ) Fee
F W1 I 91 66 © | AfE 7 & i
1 A 2 B 3 1S o TUH WS T&JT
2 98 TETE 911 3 § BieT 8, TE 8
(A) 24 " (B) 42

(C) 62 (D) 26

5aNH, AT g B AP HAT A |
10 ¥ 91 A it 3T B i 31g I IO
Bt A IduH 371 ?

(A) 45ad
(B) 5094
(C) 35ad
(D) 9 & =g T

@fﬁa%s‘rm?ﬁ%mj FHNAH 1 TR

I %‘s’rrﬂ?ﬁ%maﬁs@a

Sme | fEe
® = ® -

© — (D) T & = 7
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50.

51.

52.

53.

54,

55.

-12-

ABCD is a cyclic

-7x+5
quadrilateral. The Iargeét angle is
(A) 110° (B) 130°
(C) 120° (D) None of these

The product of 2 consecutive integers
is 90. Then the 2 +ve integers are

(A) 9,10
(B) 8,9
(C) 15,6
(D) None of these

The difference between the squares of
2 positive numbers is 180. The square
of the smaller number is 8 times the
larger number. The two numbers are
(A) 16, 14 (B) 12,18

(C) 10,8 (D) None of these

If probability of an event A is 0.1, then
P (not A) is
(A) 0.09
(C) 0.9

(B) 0.99
(D) 0.1

The mean of first 10 natural numbers is
(A) 55 (B) 5.5
(C) 6 (D) None of these

If volume of a cube is 64 cm?3, then its
side length is
(A) 8cm
(C) 4cm

(B) 32cm
(D) None of these

O 0O 0O 0

56.

57.

58.

59.

60.

The area of a triangle formed by the
points (5, 2), (4, 7) and (7, — 4) is

(A) 2 square units

(B) 83 square units

(C) 4 square units

(D) None of these

Value of sin60° cos30° + cos60° sin30° is
(A) 2 (B) 1
(C) 3 (D)

N w

The sum of first ten terms of the AP
2712070 s

(A) 230
(C) 255

(B) 245

(D) none of these

The sum of the terms of
34+32+30+...+10is
(A) 286

(B) 198

(C) 250

(D) None of these

Which term of the AP, 3, 8, 13, 18, . . .
is 78 ?

(A) 10

(B) 18

(C) 16

(D) None of these
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52.

53.

55.
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ABCD U g S 2 |

(A) 110°
(C) 120°

(B) 130°

(D) 398 | =g el

2 FHTTE qUITeh! =1 OFwE 90 &, I
2 SATCH qUIT &

(A) 9,10

(B) 8,9

(C) 15,6

(D) T & 1S T

2 YATHS: AT & a7 & o9 AT
180 ® | B "E&A &1 T L G §

8TON ® | ST TEATd §

(A) 16, 14 (B) 12,18

(C) 10,8 (D) 8 & g A=l
Ife Tk w2 A it wifderar 0.1 8, &t
P (not A) &

(A) 0.09 (B) 0.99

(C) 0.9 (D) 0.1

WYY 10 Wi TEanat 1 arey

(A) 55 (B) 5.5

(C) 6 (D) 378 @ I3 &
Ife T 99 &1 A=A 64 cm?3 8, a1 3T
T dage

(A) 8cm (B) 32cm

(D) T & i T

(C) 4cm

56.

57.

58.

88.

60.
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fagsti (5, 2), (4, 7) 3R (7, - 4) T A
T B 1 dewd @

(A) 27 TS

(B) 37 TS

(C) 4= 5ome

(D) T & =rE 7

sin60° cos30° + cos60° sin30° FTHH &
(A) 2 (B) 1

3
(C) 3 ()

T AV 2, 7, 12, 17,... F 98t 10 931 &1
I 2

(A) 230
(C) 255

(B) 245
(D) = | IS T

34+32+30+...+10%F &I 1AM 2
(A) 286

(B) 198

(C) 250

(D) 38 & id T

TR it 3, 8, 13, 18, . .. T HH-HI
g 788 ?

(A) 10

(B) 18

(©) 16

(D) 378 & H1E Tl
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61.

62.

63.

64.

65.
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iv) Hindi Language and Comprehension

&= i A

TETC I & 66. WG BT IE AT FAHE |
(A) e (A)
(B) fasyor (B) wfersaq
(C) frmn-Frsrau (C) FduH
(D) “TEETEE G (D) ifersae 3R o[ &
i P 2 67. ASHT YIeE i WA G &

: (A) wigehd
(A) &Epd
®) T (B) =t

. (C) wETuA
(C) wepla
(D) T (D) T
P 68. ‘frEa-Hua gw =1 we e @

1 |

A) HT-TANE
(A) ¥ R I @A T | EB; S
(B) I T WA & | C) Todi-
(C) T Tewrera @ Fraradi & | R —
(D) it i@l # yei S |
69. TE e F agaAEH BT
EZIEE ISk (A) =T
(A) W= Id0H HId (B) =Rt
(D) T sfasaq T
70. Fefafaa e o i sioms ?

71 9 @ v deem w1ee Biew Jany | (A) = fem o smam |
(A) FASTH (B) &t &I @ Raemadt |
((2; g (C) Te 8w fim |
(D) He (D) &9 E |



0 0 0 0O

7

T2

73.

74.

75.
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T R IS o gem ® | aifehd wiea B
(A) TEUETES GITH

(B) Ffvagars gdam

(C) S¥aT=F HIA™

(D) FveraT=e g™

frafafes ¥ @ F9-a1 a= Qi
o aetE g ?

(A) TH EHaT 2 |

(B) € @I Yahrdl 2 |

(C) 9% @HI @& &l 4T |

(D) T 3 f |

IS T Tel W | Wifehd Yog RS 7
(A) gf@ETETEF fawmo

(B) TETEe fasiyu

(C) TraTiHes ferersor

(D) TIA™

BT THa § T i a1l 68 ©
(A) e

(B) g=I=

(C) @l

(D) g

Tafeifaa weet § & Hfifer e wre=y |
(A) &

(B) =iy

(C) T

(D) wmEa

76.

Tl

78.

79.

80.
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3 @fg F oEt o ¥ 39 fSER W
gfitada FEATIE |

(A) 3@

(B) wcgd
(C) dfy

(D) ferssmr

T’ Yo% 1 qg9d ¥9 &
(A) T
(B) TS

(C) U=
(D) T

fege =1 wfy-fasae
(A) Te + 1
(8) fer + 1y
(C) &z +719
(D) o+

e TSR 7T T 38 HIST TleT o |
(A) T I

(B) T

(C) Tafsa ama

(D) T @ =g T

forgft wree w1 gfeem w9 2
(A) fagm

(B) faeuma=

(C) ferstam

(D) fareran
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v) English Language and Comprehension

T W s Ay

Select the word that is opposite in meaning
(antonym) to the word given in the question.

81. Omnipotent _
(A) Ignorant (B) Powerless
(C) Dubious (D) Stable
82. Negate
(A) Promise (B) Add
(C) Deny (D) Affirm

Fill in the blanks with suitable preposition from
among the choices given below them.

83. Tom’s away atthe moment. He'’s
holiday in France.

(A) at (B) on
(C) in (D) for
84. |saw Jack a concert last Saturday.
(A) at (B) on
(C) in (D) for
85. I'm going away the end of
January.
(A) at (B) on
(C) in (D) None of these

Fill in the blank with appropriate form of the
verb from among the options given below.

86. We're good friends. We
each other for a long time.
(A) have been knowing
(B) have known
(C) knew
(D) know

-16-

Read each sentence to find out whether there
is any error in it. The error, if any, will be in one
part of the sentence, the number of that part
is the answer.

87. Antarctica is not only forbiddingly cold(1)/
and remote and is also protected (2)/
by a treaty that preserves (3)/the continent
and wildlife (4).
(A) 3
(C) 1

(B) 2
(D) 4

88. No sooner (1)/was the funeral (2)/over
but Sandra (3)/left for the US (4).
(A) 4 B) 2

(C) 3 (D) 1

Fill in the blanks with appropriate articles from
among the options.

89. The corruption of best

becomes the worst.
(A) a

(B) the

(C) an

(D) not required

90.
poet.
(A) The
(B) A
(C) An
(D) No article required

Tagore was a truly great
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Select the word that is most similar in meaning
(synonym) to the word given in the question.

91. Elucidate
(A) Strengthen (B) Intensify
(C) Sharpen (D) Clarify
92. Defer
(A) Delay (B) Refer
(C) Assume (D) Bear

Fill in the blank with appropriate modal form
from among the choices.

93. It's late. It's time home.
(A) wemustgo (B) we should go
(C) wego (D) we went

Fill in the blanks with appropriate words/phrases.

94. Neither Jhonny nor Joe forgot that
a test on Monday.
(A) they had
(B) he had
(C) he has
(D) they must have
95. Five miles cover on foot.
(A) are too much for me to
(B) were much enough for me to
(C) is too much for me to
(D) are so long for me into
96. |If you need a coat you will have to buy
as | cannot give you mine.
(A) some (B) one
(C) any (D) it
17=
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Each of these questions presents a word that
may have been spelt incorrectly. From the
choices provided, pick the correct spelling
and mark that option of the right choice as
the answer or pick ‘no error’ if you think that
is appropriate.

97. Enthusiestic
(A) Enthusiastic
(B) Enthuciastic
(C) Enthosiestic
(D) No error

98. Amendment

(A) Amentmend
(B) Ammendment
(C) Amenndment

(D) No error

Add suitable question tags to the following
statements from among the choices given
below them.

99. The Mehras were good hosts, __~ ?
(A)
(B)
(©)
(D)

were they
wasn't he
weren't they
aren'’t they

100. She hasn'’t recovered from the
shock, ?

(A) hasn’t she

(B) haven'tit

(C) has she

(D) is she
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101.

102.

103.

104.

1065.

SECTION -B

RO OO

Post Specific Subject-Related Questions

is used to identify garment
section assembling.

(A) Grain
(B) Ease
(C) Layer
(D) Notching

__isadetermined measure of
muslin planned for developing a design
which features vertical style line.

(A) Panel
(B) Ply

(C) Marker
(D) Pattern

A direction in the fabric at an angie to
the length or cross is known as

(A) On grain
(B) Off grain
(C) Bias grain
(D) Contour

The narrow, firmly woven finished edge
on both length grain sides of a woven
fabric is known as

(A) Grain

(B) Selvedge

(C) Layout

(D) Cutting

A layout where 2 or more plies of fabric

are spread face up or face to face is
known as

(A) Partial layer
(B) Multi-Ply layout
(C) Spreading

(D) Ply

106.

107.

108.

109.

110.

knife is used to cut acute
angles or sharp curves.

(A) Notcher
(B) Band

(C) Click press
(D) Clamp

is the amount of fabric allowed
in the pattern design to accommodate
body movement.

(A) Seam
(B) Ease
(C) Grain
(D) Fold

Highest point of the bust in model form/
live model is

(A) Apex
(B) Bodice
(C) Muslin
(D) Form

The take up of excess of fabric of a
determined amount at the edge of the
garment or converging to a diminishing
point is

(A) Flare

(B) Fuliness

(C) Dart

(D) Bias cut

Pleats are designated as
(A) flat/dimensional

(B) shape/fabric

(C) line/design

(D) body movement/action



101.
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103.

104.

105.
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0
U Wfafes fTva - gaei =

1 TN IS ITHET T
TegH ¥g R ST ® |
(A) TH
(B) T
(C) Ut
(D) =it

Teh Heiwel o1 Ueh THIvera /g i1
IeaTeR Sreft W arelt o & e fesméa
=1 Tl = 3 fou s 2
(A) e
(B) wi$
(C) =R
(D) ¥

TS U {31 S HeTe F1 12 & Th R0 T
& FEAT E |

(A) ATUT

(B) 3176 IH

(C) == IH

(D) Fg

T S G FIS il 2 TS I TR TR 31
AT TREfSSr foRm FEA & |
(A) I

(B) Teasi

(C) =g

(D) e

o i e s ST 3 e
T F AT -T2,
FeAI 2 |

(A) TfIT Wa

(B) Tedt-ws =g

() fammn

(D) =TS

106.

107.

108.

109.

110.
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<R = IV AT AN T A F
fore s frn s @ |
(A) AR
(B) &=
(SMESED [
(D) w7

e S Fe g & S YR i g |
RT3 o o e oo  arqma 2rft 2 |
(A) ¥m

(B) =

(C) 1=

(D) ®ies

T &9 /SHifor T S 5 wared g €
(A) ¥fd

(B) =reht

(C) HeHdA

(D) &9

FIL & foR W v Ffa o o Fog
STTRrE ST A1 T U foig e frspre B
(A) T

(B) Ui

() =i

(D) SEHFE

A FEdE |
(A) "Had /fad

(B) 3Tpf/Haet

(C) ti/feamga

(D) It wifar /faman
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111,

112.

113.

114.

115.

is an inverted or side pleat
released at knee level or below.

(A) Single pleat
(B) Knife pleat
(C) Multiple pleat
(D) Kick pleat

A metal/plastic drawing guide with an
edge that includes a variety of curves
known as

(A) lapel curve
(B) sleigh curve
(C) eraser

(D) pin cushion

A metal hand tool designed with a lever
or a circular die cutter is known as

(A) pattern punch
(B) knotch
(C) lapel
(D) pattern string

is a pattern of a garment
component without style lines or seam
allowance.

(A) Sloper
(B) T square
(C) Balance
(D) Style
is the shifting of a sloper on

pattern paper from a marked position
towards a designated guide line.

(A) Slashing
(B) Pivoting
(C) Sloping
(D) Overlaping

A0 0 OO

116.

117.

118.

119.

120.

The area of the collar close to the neck
seam is

(A)
(B)
©)
(D)

neckline
bias
stand

style

is a fastener.
(A) Zipper
(B) Bobbin
(C) Elastic
(D) Bow

is a non woven fabric structure
produced by the application of moisture,
heat, agitation and pressure to a web of
fiber.

(A) Cotton
(B) Muslin
(C) Felt
(D) Jute

fabric is having a synthetic
structure.

(A) Plastic
(B) Cotton
(C) Silk

(D) Bamboo

Woven fabric structure is produced on
a loom by the of warp and
weft yarns.

(A) stitching

(B) interlacing
(©)
(D)

filling
printing
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112

113.

114.

115.
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TS It I A N A § |
Tl ok 31 368 e el it # |

(A) THS HEEE

(B) =g ¥a

(C) wga-Hi &eiae

(D) T werae

UF U7 /TS H W@y e e
wF foram &t fed sga-wr 9% @,
FeeTa & |

(A) U 9%
(B) it I
(C) @=
(D) o= aferan

% SffeR I TF FT I Fdh & a1y
fesmEa foram a1 wE 9Tg &% ITEW
FEAT ¢ |

(A) T U=
(B) =
(C) <9
(D) Y fe

e et a1 Hie gHa
Fhmmaa s H TR |
(A) TR
(B) -TFE
(C) Seig
(D) wrisA

Yo ST O U TR o U T
feurfa @ e fafvsa ool e 2 |
(A) =Afsm
(B) wrEaItaT
(C) Tt
(D) STaafmT

116.

117.

118.

119.

120.
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T e ¥ free Fiet 1 &
(A) eI

(B) s®

(C) ¥z

(D) wrw

T 949 # |

e

0o e § i, T, 3 SR
218 ¥ AT A e e S FR
TEATR |

(A) =A™

(B) W

(C) e

(D) SE

F9E il T FOH TEATE |
(A) TS
(B) ¥
(C) WM

(D) stg

TS S T 1 58 96 ST
& TR~ ¥ Ieael Brelt 2 |
() R
(B) sa-sfra ¥ e e
(C) =
(D) ==
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121.

122.

123.

124.

125.

E90s

grain line is the strong and
stablée grain.

(A) Cross

(B) Semi off
(C) Width wise
(D) Length wise

The method of pattern layout selected
depends on

(A) style

(B) placement
(C) texture
(D) border

Goods with particular woven, pattern or
finishes is known as

(A) tone
(B) layout
(C) folded
(D) directional fabrics

Animal skin are measured in
(A) square feet

(B) inch

(C) metre

(D) millimetre

A design in which lines of mixed width
and colour are repeated consecutively
forming a one way directional design is

(A) even stripes
(B) plaids

(C) checks

(D) uneven stripes

126.

127.

128.

129.

130.

is a cutting instrument ranging
in size from 4" to 6" with straight
blades and designed with identical ring
handles.

(A) Drilling

(B) Ripper

(C) Knotcher

(D) Sewing scissors

needle is blunt tipped needle
with oval eye.

(A) Hemming
(B) Tapestry
(C) Tufting
(D) Crewel

is a chemical bath of caustic
soda applied to cotton/cotton covered
polyester core thread.

(A) Twisting

(B) Mercerization
(C) Construction
(D) Manufacturing

is a temporarily holding
together of two or more plies of fabric.

(A) Basting
(B) Sewing
(C) Seaming
(D) Adding

produced in a series,
simulating machine sewing with no
space between stitches.

(A) Back stitch
(B) Looping

(C) Stem stitch
(D) Chain stitch
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(A) =

(B) Tt A%
(C) dreranr
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(A) wIa

(B) wTfRar
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(D)

o 918, Y 1 ufwssn T g
maam%y

(A) M
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(A) T ER

B) =
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FHME €9 Y Se0E 911 2

(A) @ ufeat

(B) =g

(C) =r@mt

(D) form wfgat
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(A) TfEeT
(B) F=
(C) A=K
(D) Torems F=h
T ISR 3@ o a1 9t e
1 g Bt 2 |
(A) ®fEm
(B) U
(C) efwem
(D) shart

0 o UToTOR hIE o ST IR S
T SHiTeesh Hiel Tl TR 9iet & |

(A) feafem

(B) wfdietor

(C) =

(D) faffmior

_ TEHATAY IRE R H
I &9 T G @A |
(A) =fEen
(B) e
(C) Hie
(D) e .
T AT | 2okt & o= § 98
BIe fom fres wefia &t sgEvar s
e 2 |
(A) o et
(B) T SHMT
(C) @ it
(D) e <
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131.

132.

133.

134.

135.
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One or more rows of functional or
decorative machine or hand stitching
is known as

(A) pleats
(B) placket
(C) top stitching
(D) basting

is fold over edge or applied
strip which is an integral part of the
garment.

(A) Draw string
(B) Casing
(C) Basting
(D) Binding

A firm rounded cushion shaped like
a ham covered with tightly woven
fabric is

(A) sponge

(B) Ipin cushion
(C) tailor's ham
(D) sleeve board

is the technique of manipulating
cloth to fit and conform to one/more
curves of the feminine or masculine
form and live model.

(A) Drafting
(B) Pivoting
(C) Slashing
(D) Draping

Black/White or a non colour is
known as

(A) achromatic colour
(B) neutral colour
(C) warm colour

(D) cool colour

136.

137.

138.

139.

140.

A bia’s-cut clothing that creates a sleek,
linear skirt is known as

(A) Gore
(B) Flare
(C) A-line
(D) Umbrella

An under garment to smooth the figure
is known as

(A) Foundation
(B) Formal
(C) Jeans
(D) Kimono

means literally “high
sewing’”, referring to the original designs
usually custom made, very expensive.

(A) Haute-couture
(B) High-tech
(C) Peter pan
(D) Hippie style
is haute couture before
it becomes current fashion.
(A) High fashion
(B) Flapper
(C) Imitation
(D) Classic

Inexpensive copies of high-priced
designer fashion as

(A) Knock-offs
(B) Panache

(C) Junk

(D) Casuals
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131.

132.

133.

134.

135.

-25-

FITcHe I1 GsilcAs H3fi 41 2 & 919
$1 us 71 3t ot FEaTdl ¢ |
(A) Fead

(B) wae

(C) i fes

(D) sfeem

e g T e
TEt & S IS T S W R |

A g fEm

(B) =&

(C) =nfem

(D) =msfen

U 319 TSR qlhT 8T UF T8 8 3
FIS ¥ o (A &

(A) I

(B) ATSf= aferan

(C) =it =1 Faw

(D) s aE

I 91 W EI F TH AT
1fereh Rl o 3Tt ST wiee & 1% 3i
e FU s I aHATH © |
(A) gifeeT
(B) wrzaifen
(C) wfdm
(D) St

AT /E%e 1 T TR] T
FEerdar g |

(A) THEfEE T

(B) SerfH T

(C) =T

(D) 3T

136.

137.

138.

139.

140.

MKG-XXIV/TECHCIFT/1T/03

e S99 il 1S 51 Ush 3TN g &he
EEIGIRS FEATar ® |

(A) TR

(B) WRR

(C) A-areH

(D) 3Fsien

T = o SR % foe v sTaee
Fear |

(A) HTSSTH

(B) ®ida

(C) S|

(D) Termm

%1 3 M § “ IR 7,
FHT: WO &9 ¥ 54 4o fesmét =t
FE TE S § T B |
(A) B FER
(B) 3I=d a1
(C) drexim
(D) fewdt St

_ ERFEATMIE I U
for 9% ad9m YW = |

(A) 3= HIH

(B) IR

(C) 7=hd

(D) 3=

eI o Tese e &t gl
gfafafy

(A) i ATE

(B) YT

(C) =

(D) HerH



MKG-XXIV/TECHCIFT/1T/03

141.

142.

143.

144.

145.
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Cotton, silk, wool and linen are all

fibers.
(A) Natural
(B) Synthetic
(C) Dyed
(D) Printed

Designing modern styles that incorporate
traditional design ideas is known as

(A) Neo classic

(B) Oxford

(C) Ethnic

(D) New wave

Ready to wear is known as
(A) Pret-a-porter

(B) Semiformal

(C) Town wear

(D) Vogue

is a sweater without

buttons.

(A) Pullover
(B)
(C)
(D)

Jacket
Spenser
Sack dress

The colours which are got by mixing
the pair of primary colours of colour
wheel are

(A) Secondary colours

(B) Complimentary colours
(C) Vivid colours

(D) Tertiary colours

0 0 O

146.

147.

148.

149.

150.

are garments without
seams usually knits.

(A)
(B)
(©)
(D)

seamless
silhouette
slip on

strapless

Fitted garments of wear ability are
called as

(A) Tailored
(B) Ready to made
(C) Styled
(D) Couture

The look and character of the cloth is
known as

(A) Texture
(B) Fall
(C) Drape
(D) Flare

are the colours suggesting
an energetic and upbeat image.

(A) Dull colours

(B) Light colours

(C) Warm colours
(D) Analogous colours

is a sort of large shell
shaped hat in gauze mounted on a tin
framework with a similar veil.

(A) Conch
(B) Cope
(C) Golf
(D) Hat
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is a Indo-Iranian loin cloth
wrapped on the waist by men.

(A) Dhoti
(B) Lungi
(C) Shorts
(D) Drawers

Tone is formed by mixing or
to the base colour.

(A) Red or green

(B) Yellow or red

(C) Black or white

(D) None of the above

A colour wheel consists of
colours.

(A) 14
B) 11
(C) 12
(D) 18

Vivid colours are also called as
colours.

(A) Light
(B) Sharp
(C) Surprising
(D) Vibrant

Trousers worn by women are called as
(A) Blossom

(B) Boater

(C) Bloomers

(D) Culotte

OO0 10O 0

156.

157.

158.

159.

160.

are also called as dress
improver, worn under the skirt supporting
to back of skirt.

(A) Caban

(B) Bustle

(C) Breeches

(D) None of the above

Camel hair fabric made originally in Asia
are called as

(A) Camlet
(B) Chalmys
(C) Kepresh
(D) Jubon

The more or less point of the hoods still
worn by French peasants

(A)
(B)
©)
(D)

cornet
crispin
loros
kyne
are long or short surcoat with
or without sleeve worn by men.
(A) Corps pique
(B) Ropa
(C) Pelerine
(D) Corset

Edging of fine fur or rich cloth used to
face fine garments for lining is

(A) Piping
(B) Basting
(C) Facings
(D) Hemming
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is a vividly colored sash
passing over the shoulders, crossed at
back and tied around the waist.

(A) Diadem
(B) Fillet
(C) Girdle
(D) Tiara

is a men’s garment, closely
fitted, worn mainly by the poor.

(A) Jacket
(B) Jerkin
(C) Mantle
(D) Peplos

Hats which was finely worked poplar
wood, soft straw with rounded crowns
are

(A) Panama

(B) Snood

(C) Stole

(D) Weepers

is a Greek women'’s hat already

worn in daedalic crete.

(A) Ropa

(B) Soccus

(C) Skull cap

(D) Polos

Originally satchel worn over one
shoulder is known as

(A) tassel
(B) vest
(C) tholia
(D) scarf

166.

167.

168.

169.

170.

is a Roman national costume,
made up of white wool.

(A) Vair
(B) Greaves
(C) Toga
(D) Zona

The First Fashion Designer's District
was

(A) Paris

(B) Amsterdam
(C) Sydney
(D) Vietnam

Trade fairs and exhibitions comes under
the category of

(A) Marketing

(B) Publicity

(C) Sales promotion
(D) Advertising

Harmony is also called as
(A) Unity

(B) Dignity

(C) Scale

(D) Contrast

describes the outer dimension
or contour of an object.
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is generally considered to be
the area seen between the shapes.

(A) Space
(B) Muslin
(C) Shape

(D) Appearance

All articles ranging from hosiery to
shoes, bags, belts, gloves, jewellery are
called as

(A) collection
(B) accessories
(C) decoratives
(D) costume

is a free standing shop devoted
to specialized sales for the customer
with special interest.

(A) Store
(B) Boutique
(C) Showroom
(D) Outlet

is a particular style that
continues as an accepted fashion over
an extended period of time.

(A) Fad

(B) Conceptional
(C) Ethnic

(D) Classic

A is a narrow strip of fabric
used to enclose the raw edges of a
neckline.

(A) Binding
(B) Bound edge
(C) Shape

(D) Stripping

1786.

177.

178.

178.

180.

Count refers to the no. of yarns in
(A) 1 square inch
(B)
(C) 2 square inch
(D)

4 square inch

6 square inch

refers to the no. of stitches/inch
in a knitted fabric.

(A) Count
(B)
(©)
(D)

Gauge
Yardage
Scale

The rolled collar is a combination of the
standing and the collar.

(A) Peter pan
(B) Shirt collar
(C) Flat collar

(D) Shawl collar

The placement of the collar is
on the garment.

(A) Symmetrical

(B) Bias

(C) Assymmetrical

(D) Visible

The term cap sleeve refers to
rather than type.

(A) Sleeve width

(B) Sleeve length

(C) Circumference
(D) Sleeve round
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The treatment of the lower sleeve edge
is referred to as the

(A) Hemming
(B) Sleeve finish
(C) Detailing
(D) Fullness

are finished openings that are
used at the lower edge of the sleeve.

(A) Placket
(B) Facing
(C) Treatment
(D) Classic

The raw edges of casing are finished to
prevent

(A) Piling

(B) Raveling
(C) Tearing
(D) Stringing

Cuffs are constructed of fabric bands
that finish or decorate the of
the sleeve.

(A) Lower raw edge
(B) Upper raw edge
(C) Middle raw edge
(D) Side raw edge

To be classified as a banded hem, the
band portion must be 2 ply with either
a seam/fold at the edge.

(A) lower

(B) upper

(C) middle
(D) top

0 OO 50O 0 0

186.

187.

188.

189.

190.

Bows are common fabric
(A) piece

(B) trim

(C) knit

(D) fusible

consists of a separate piece of
fabric applied to a larger background.

(A) Appliqué
(B) Trim
(C) Fabric
(D) Swatch

is “degree of excellence
grade”.

(A) Quality
(B) Quantity
(C) Mass
(D) Fact

is a design derived from the
cone design on woven Indian fabrics
and shawls.

(A) Paisley

(B) Liberty prints
(C) Plaids

(D) Dots

are the basic components of
textile fabrics.

(A) Yarn
(B) Fibre
(C) Warp
(D) Weft
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is an example of artificial
fibre.

(A) Silk
(B) Cotton
(C) Wool
(D) Acrylic
A lining is applied
to finish it.
(A)
(B)
(C)
(D)

of a garment

inside
outside
either side

one side

Hand tacking is also known as
(A)
(B)
(C)
(D)

stitching
basting
tacking

seam finish

Seam finish is a technique used to
make

(A) seam edge neat

(B) hemline

(C) neckline

(D) facing

Texture of a fabric appeals to the eyes
as well as

(A) touch and feel

(B) colour and intensity

(C) shape and size

(D) proportion and scale

0 OO0 0 0 0O A

196.

197.

198.

189;

200.

Practical stitches are produced by
coordinated motions of needles and

(A) bobbin
(B) faceplate
(C) feed

(D) regulator

is one of the design element.
(A) Line
(B) Proportion
(C) Rhythm
(D) Emphasis

The space, division and their relationship
within a design are termed as

(A) Proportion
(B) Shape
(C) Texture
(D) Colour

Basket weave is of the
plain weave in which paired or multiple
yarns are used in the alternating
pattern.

(A) Fibers
(B) Yarns
(C) Muslin
(D) Variation
fabrics are made of a series of
interlocking loops.
(A) Knit
(B) Pile
(C) Gauge
(D) None of the above
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13.

14.

15.

§ 7l

18.

18.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is

" given below.

Wrong Method
O®0O0

Wrong Method

000

Wrong Method || Correct Method|

O®00|0Ce00

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each

question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (®) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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17.

18.

19.
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